Mathematical Concepts — Joysheet 2
MAT 117, Fall 2012 — D. Ivansic

‘Solve the equations.

1. (3pts) 9+2(1 —x) =7+ 2(x—1)
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3. (9pts) Solve the equation for r: o
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Show all your work!

Name:

2. (6pts) 22 —2xr=z+28 '“}"iﬂ?




Simplily, showing intermediate steps.

o) V= [l = (6.4 = &z

7. (4pts) /TG = €96 xty) = 66 L gl S 6 My ek

S 2= LA e

8. (5pts) +/50x0y /10222 = IJFETCJO}{ 1-:_]3 2 J*’r-l;f Kiek == \};
| I| Tl

GO TiEtd

9. (8pts) Simplify. Express answers first in terms of positive exponents, then convert to
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11. (6pts) Rationalize the denominator.
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